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O que queremos ?

- O menor custo computacional !

Porque nao podemos ?

- Erro de discretizacao e Limite de Estabilidade
O que faremos?

Buscar métodos incondicionalmente estaveis !
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Backward-Difference Method

To obtain a method that is unconditionally stable, we consider an implicit-difference
method that results from using the backward-difference quotient for (du/d1)(x;. 1;) in the

form
w(xi, 1) — w(xg, fj-1) L K k d°u
k 2 ar*

du
E(If-.-i}} = — (X5, 1),

where g is in (f;_;. ;). Substituting this equation, together with Eq. (12.8) for aiu/ax?,
into the partial differential equation gives

ux, ) — u(xi, G-1) _ o uir1, ) — 2u(x, §) + u@i-1, 4)

k h2
SR S Lk T
7 gz ) T & g il

for some & € (xi_1.Xir1).

D*u(z) = 75 [u(Z — h) — 2u(z) + u(z + h)
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The Backward-Difference method that results is

Wi — Wij_1| o2 Wiplj — 2w + wi—yj .

- = 0, (12.12)

foreachi=1,2,....m—1landj=1,2,....
The Backward-Difference method involves the mesh points (x;,f;_), (x;_;. 1), and
(Xis1,1;) to approximate the value at (x;, f;), as illustrated in Figure 12.9.
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Since the boundary and initial conditions associated with the problem give information
at the circled mesh points, the figure shows that no explicit procedures can be used to solve
Eq. (12.12). Recall that in the Forward-Difference method (see Figure 12.10), approxima-
tions at (x;_y, fi—1). (X, 4—1), and (x;4, ;1) were used to find the approximation at (x;, ;).
So an explicit method could be used to find the approximations, based on the information
from the initial and boundary conditions.
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If we again let A denote the quantity o”(k/h*). the Backward-Difference method

becomes

(I +20)wy — Awgyyj — Awy_ gy = wijy,

foreachi=1,2,....m—1landj=1,2,.... Using the knowledge that w;p = f(x;), for
eachi=1.2,....m—1and wyn; = wo; = 0, foreachj = 1,2, ..., this difference method

has the matrix representation:

= {I—'—E;‘-::} _:,IL G ............ {;I 1 _
. . : ullJ
—J'u__ wz ;
0 0 J
s N ) -_-JI‘
: L e T | Wm—1
i Deerevnnnnnn O —i {1 +E‘U -

or AwY' = wi-U _foreachi=1.2.....

=

wyi—1
a1

| Wm—1,-1

. (1213)
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Hence, we must now solve a linear system to obtain w’ from wV—!', However 1. = 0, so
the matrix A is positive definite and strictly diagonally dominant, as well as being tridiagonal.
We can consequently use either the Crout Factorization Algorithm 6.7 or the SOR Algorithm
7.3 to solve this system. Algorithm 12.2 solves (12.13) using Crout factorization, which
is acceptable unless m is large. In this algorithm we assume, for stopping purposes, that a
bound is given for .
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Tridiagonal Matrices

Matrices of bandwidth 3 occurring when p = g = 2 are called tridiagonal because they
have the form
Coan gy Oneeeeeeeeeenn 0 7
an an an . :
U asz, ﬂ33.“ﬂ34___“ .
...,‘::-ﬂ"_lﬂ

[I --------------- l:: -EFEJI—J : {I"ﬂ

=

The factorization algorithms can be simplified considerably in the case of band matrices
because a large number of zeros appear in these matrices in regular patterns. Itis particularly
interesting to observe the form the Crout or Doolittle method assumes in this case.



To illustrate the situation. suppose a tridiagonal matrix A can be factored into the
triangular matrices L. and U. Then A has at most (3n — 2) nonzero entries. Then there are
only (3n — 2) conditions to be applied to determine the entries of L and U, provided, of
course, that the zero entries of A are also obtained.

Suppose that the matrices L and U also have tridiagonal form, that is,

B TR ISEREERREE e 0 7 T 1 upy, 0peees 0]

I f22+:+‘*+++ : 0 1 .

L=| o .| and U= @0
[ 0--e--e- 0 L1 lun B EEEETERTE S0 1

There are (2n — 1) undetermined entries of L and (n — 1) undetermined entries of U, which
totals (3n — 2), the number of possible nonzero entries of A. The O entries of A are obtained
automatically.
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The multiplication involved with A = LU gives, in addition to the 0 entries,

ayp = I
ajj_y =1l;;_y, foreachi=2,3,....n: (6.13)
ai; = i i ;+ ;. foreachi=2.3,....n: (6.14)
and
@i iy = ;0. foreachi=1.2.....n—1. (6.15)

A solution to this system is found by first using Eq. (6.13) to obtain all the nonzero off-
diagonal terms in L and then using Eqgs. (6.14) and (6.15) to alternately obtain the remainder

of the entries in U and L. Once an entry L or U is computed, the corresponding entry in
A 1s not needed. So the entries in A can be overwritten by the entries in L and U with the
result that no new storage is required.
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Algorithm 6.7 solves an n x n system of linear equations whose coefficient matrix is
tridiagonal. This algorithm requires only (5n — 4) multiplications/divisions and (3n — 3)
additions/subtractions. Consequently, it has considerable computational advantage over the
methods that do not consider the tridiagonality of the matrix.

Example 5 Determine the Crout factorization of the symmetric tridiagonal matrix

2 -1 0 0
—1 2 -1 0
0 -1 2 -1
0o 0 -1 2

and use this factorization to solve the linear system

11’1— X2 =1.
—Il—|—11’g— X3 I'D,
— X+ 2x— x3 =0,

— I]—Fll’q:l.
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Solution The LU factorization of A has the form

fdyy g2 0 0 [ f|| 0 0 0 1 2 0 ]
A— | G an ax 0O | | la I 0O 0O 0 1 ws 0
] fdzr  dzz dyy 0 1’33 I'-I‘_'J,:-‘,. 0 0 0 1 U3y
N 0 0 43 a4 B | 0 (0 !’43 .t'q_-t i _'U 0 0 1 _
BT liyupn 0 0 ]
| o b+l l22123 0
- 0 I3 [33 + [32073 [33U34
| 0 0 lyz  lag + lazutzg |




Thus

ap -
.
flry .
33 .

{43 .

This gives the Crout factorization

2= = Iy =2

— 1=l = L =-—1.

— 1 =lbhottry; = U3 = —
2=1lhs+ Ity = I3 =

— 1=l — liz=-1,

2 1
-1 2
0 —1
0 0

B

IR [N CR R | B

= O = b2

.

[ e

{3y .

{44 .

S =W o
—wle O O
HuD O O

MAP2320

— 1=l = up=—1,

2=Iln+ by = In=-—

a ]t

-

— 1=l = lpn=-1,

— 1 = hattyy = uyy = —

2 =l + 3y — ly =

oo Q=

D e 3=

b

—_—e S O

=l ]t

= LU.
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Solving the system

2 0 0 0 Z1 1 Z1 %

-1 3 00 || 2 0 . 2 3

Lz = 0 _] % U = 1= o gives | = %

| 0 0 -1 3§ || & _ 1] | Zs | 1

and then solving

_ - - - -1 - - o

1 —% 0 0 X1 ? X 1

0 1 —= 0 X 3 | X 1

[ — 3 = 3 oy - =
L'x 0 0 ] _% - % eIves s I u

i 0 0 0 | 1L Xy . 1 i X3 A | 1 |

The Crout Factorization Algorithm can be applied whenever [;; = 0 for each i =
1.2.....1n Two conditions, either of which ensure that this is true. are that the coefficient

matrix of the system is positive definite or that it 1s strictly diagonally dominant.



Crout Factorization for Tridiagonal Linear Systems

To solve the n x n linear system

E: anx, + apx =d1p4l,s
E;: anx) + anx; + axx; = A2a41,
E,y: An 1 n-2Xn-2 + Au_1 n—1Xn—1 + An_12Xn = Qn_1 41,
En . Appn—1Xn—1 + QunXy =Apn+l,s

which is assumed to have a unique solution:

INPUT the dimension n; the entries of A.
OUTPUT the solution xy, ... .. X,.

(Steps 1-3 set up and solve Lz = b.)
Step 1 Setl =ay:

ui2 = ap/h;
2 = Qa1 /.

Step2 Fori=2,...,.n—1setli;_y =aj;_: (ithrow of L.)
li = aii — Lii1ui
Uijs1 = @ijp1/liz ((i + 1)th column of U.)
Zi = (@inyr — LiiaZio1) /.

Step3 Setl,, | =a,, : (nthrowof L.)

Irux =0y — lpp_1Up_1 -

Zn = @pps1 — lpn1Za—1)/lnn-
(Steps 4 and 5 solve Ux = z.)
Step4 Setx, =2z,
Step5 Fori=n—1,...,1setx; =2 — tjjs1Xis1-

Step 6 OUTPUT (xy,....x,):
STOP.

MAP2320
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- Heat Equation Backward-Difference

INPUT

OUTPUT  approximations w; j to u(x;,t;) foreachi=1,....m—landj=1,...

endpoint [; maximum time 7T'; constant «: integers m = 3. N = 1.

Step 1 Seth=1/m;

Step 2

Step 3

Step 4

Step 5
Step 6

k=T/N;

A= a’k/h?.
Fori=1,...,m—1setw; = f(th). (Initial values.)
(Steps 3—11 solve a tridiagonal linear system using Algorithm 6.7.)
Setly =1+ 2x;

) = —lﬂl.

Fori=2,....m—2setl; =142\ + Auj_1;
i = —lf’fg.

Setlpy_1=1+24 + Aupy_».
Forj =1....,.N do Steps 7-11.

Step 7 Sett = jk; (Current t;.)

71 =w /1.

Step8 Fori=2,....m—1setz; = (w; + izi_1)/1;.

Step 10 Fori=m—2,..., I set w; =z — wjwy.
Step 11 OUTPUT (t); (Note:t =t;.)

Fori=1,....m—1setx =ih:
OUTPUT (x, w;). (Note: w; = w;;.)

Step 12 STOP. (The procedure is complete.)

MAP2320
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Use the Backward-Difference method (Algorithm 12.2) with A = 0.1 and £ = 0.01 to
approximate the solution to the heat equation

3:.1( . 92u
at X.1) ax2

(x,t) =0, O<x<1, 0O0<t,

subject to the constraints

w0,y =u(l,t) =0, 0<t, wx,0)=smmx, 0=<=x<1I1.

Solution This problem was considered in Example 1 where we found that choosing h = 0.1
and k = 0.0005 gave quite accurate results. However,with the values in this example.
h = 0.1 and k = (.01, the results were exceptionally poor. To demonstrate the unconditional
stability of the Backward-Difference method, we will use # = 0.1 and k = 0.01 and again

compare w; sp to u(x;,0.5), wherei =0,1,...,10.



Solution

(a) Forward-Difference method with h = 0.1, k = 0.0005 and A = (1)?(0.0005/(0.1)%) = 0.05
gives the results in the third column of Table 12.3. As can be seen these results are quite accurate.

&
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Table 12.3

Wi 1000 Wi sn
X; u(x;,0.5) k = 0.0005 e (x;,0.5) — w; 1000 k=0.0I lu(x;, 0.5) — w; 50
0.0 0 0 0
0.1 0.00222241 0.00228652 6411 x 103 8.19876 x 107 8.199 x 107
0.2 0.00422728 0.00434922 1.219 x 10~* —1.55719 x 108 1.557 x 108
0.3 0.00581836 0.00598619 1.678 x 10~* 2.13833 x 108 2.138 x 108
0.4 0.00683989 0.00703719 1.973 x 10~* —2.50642 x 108 2.506 x 108
0.5 0.00719188 0.00739934 2075 x 104 2.62685 x 108 2.627 x 108
0.6 0.00683989 0.00703719 1.973 x 10~* —2.49015 x 108 2.490 x 108
0.7 0.00581836 0.00598619 1.678 x 10~* 2.11200 x 108 2.112 x 108
0.8 0.00422728 0.00434922 1.219 x 10~* —1.53086 x 10° 1.531 x 10°
0.9 0.00222241 0.00228652 6.511 x 103 8.03604 x 107 8.036 x 107
1.0 0 0 0

1000 StepS 50 Steps

(b) Forward-Difference method with 1 = 0.1,k = 0.0l and A = (1)*(0.01/(0.1)*) = |
gives the results in the fifth column of Table 12.3. As can be seem from the sixth column,

these results are worthless.

RECORDANDO A AULA ANTERIOR



Table 12.4

X; Wi so u(x;,0.3) |wiso — ul(x;, 0.5)]
0.0 0 0

0.1 0.00289802 0.00222241 6.756 x 10
0.2 0.00551236 0.00422728 1.285 x 107
0.3 0.00758711 0.00581836 1.769 x 10~
0.4 0.00891918 0.00683989 2.079 x 107
0.5 0.00937818 0.00719188 2.186 x 107
0.6 0.00891918 0.00683989 2.079 x 107
0.7 0.00758711 0.00581836 1.769 x 1077
0.8 0.00551236 0.00422723 1.285 x 107
0.9 0.00289802 0.00222241 6.756 x 107
1.0 0 0

50 tridiagonal
solutions

MAP2320

The results listed in Table 12.4 have the same values of h and k as those 1n the fifth and
sixth columns of Table 12.3, which illustrates the stability of this method.

&



Forward Difference

Para cada ponto interno m-2

realizam-se cerca de 3
multiplicacdes

Para cada nivel de tempo
3*(m-2) multiplicacdes,
portanto para atingir

o instante T, sao necessarias
3*(m-2)*T/k multiplicacoes.

O método é limitado em
estabilidade logo k deve
respeitar

h2

k <
2a’

, MAP2320
Backward Difference

Para cada nivel de tempo 5*(m-4)
multiplicacbes/divisdes, portanto para atingir
o instante T, sdo necessarias 5*(m-4)*T/k
multiplicacbes/divisoes.

Apesar do custo maior (no caso ligeiramente
maior) o método é incondicionalmente estavel.

Porque
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The reason that the Backward-Difference method does not have the stability problems
of the Forward-Difference method can be seen by analyzing the eigenvalues of the matrix
A. For the Backward-Difference method (see Exercise 14). the eigenvalues are

~

L = 1+4.l.|:sin (E)] , foreachi=1,2,....m—1.

2m

Since A = 0, sowe have u; = 1 foralli = 1,2,..., m — 1. Since the eigenvalues of A~
are the reciprocals of those of A, the spectral radius of A=!, p(A~!) < 1. This implies that

A~ is a convergent matrix.

An error e in the initial data produces an error (A=!)"e” at the nth step of the
Backward-Difference method. Since A~! is convergent,

lim (A~ " = 0.

fl— 0

So the method is stable, independent of the choice of A = a”(k/h”). In the terminology
of Chapter 5, we call the Backward-Difference method an unconditionally stable method.
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O que queremos ?

- O menor custo computacional !
Porque nao podemos ?
- Erro de discretizacao e Limite de Estabilidade

O que faremos?

v/

Buscar métodos incondicionalmente estaveis !
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The local truncation error for the method is of order O(k + h?), provided the solution
of the differential equation satisfies the usual differentiability conditions. In this case, the
method converges to the solution of the partial differential equation with this same rate of
convergence (see [IK], p. 508).

The weakness of the Backward-Difference method results from the fact that the local
truncation error has one of order O(h”). and another of order O(k). This requires that time
intervals be made much smaller than the x-axis intervals. It would clearly be desirable to
have a procedure with local truncation error of order Q(k* + h”). The first step in this
direction is to use a difference equation that has O(k?) error for u; (x, t) instead of those we
have used previously, whose error was Q(k). This can be done by using the Taylor series in
t for the function u(x, t) at the point (x;, f;) and evaluating at (x;,#;.1) and (x;, #;_) to obtain
the Centered-Difference formula

u@i, tip1) — Ui fi-1) | k> 0’u
2k 6 I

i
— (X, 1) =

a7 (Xis 145),

where p1; € (ti_1,t41).

u(z+h)—ulx—h)

Dyu(z) = o7
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The difference method that results from substituting this and the

usual difference quotient for (8%u/dx?), Eq. (12.8), into the differential equation is called
Richardson’s method and is given by

Wijbl — Wij—1 _ 2 Witlj — 2wij + wi_y
2k h?

This method has local truncation error of order O(k* + h?), but unfortunately, like the
Forward-Difference method, it has serious stability problems (see Exercises 11 and 12).

= 0. (12.14)

Incondicionalmente Instavel !



Crank-Nicolson Method

MAP2320

A more rewarding method is derived by averaging the Forward-Difference method at the

jth step in ¢,

Wijpt — Wij _ 2 Witly — 2wij + wi_yy
k h?

=0,

which has local truncation error

k 8%u

= Emili,#ﬂ +O(h%),

93

and the Backward-Difference method at the (j + 1)st step in f,

Wijhl — Wij _ 2 Witlj+l — 2Wiji1 + Wizt jsl
k h?

which has local truncation error

k 8%u

—Ew(l}, ﬁj] + O{hz}

Tp =

=0,
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If we assume that

3u . 9%u
@(Xn L) ~= E(In i)

then the averaged-difference method,

Wij+1 — Wi o’ Wit — 2Wij + Wiy i Wit ljp1 — 2Wijet + Wiy jt —0
k 2 h? h? ’

has local truncation error of order O(k* + h?), provided, of course, that the usual differen-

tiability conditions are satisfied.



MAP2320

This is known as the Crank-Nicolson method and is represented in the matrix form
AwVtD) = Bw'  foreachj=0,1,2,..., (12.15)

where

A !
F: “"{” — {le}wgJ:”':tﬂm—]J) ’

B (I—HQ. _%._F}ii: ........ 0 7] B (1 _4} % (]:: ......... {] ]
A= 0 0 B — 0 0
R B 0 -5 (+5n [ 0.l 0 % :{1—}..} B
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The nonsingular matrix A is positive definite, strictly diagonally dominant, and tridi-
agonal matrix. Either the Crout Factorization 6.7 or the SOR Algorithm 7.3 can be used
to obtain w' from wY~"_ foreachj = 0,1,2, . ... Algorithm 12.3 incorporates Crout fac-
torization into the Crank-Nicolson technique. As in Algorithm 12.2, a finite length for the
time interval must be specified to determine a stopping procedure. The verification that the
Crank-Nicolson method is unconditionally stable and has order of convergence O(k”> + h?)
can be found in [IK], pp. 508-512. A diagram showing the interaction of the nodes for
determining an approximation at (x;, t;) is shown in Figure 12.11.

t
]
41 X X X C
£ X X X o Crank-
¢ Nicolson
¢ method

=1 |




Crank-Nicolson

INPUT endpoint [; maximum time 7T'; constant «; integers m > 3, N > 1.

OUTPUT  approximations w;; to u(x;,t;) foreachi=1,....m—landj =1,...

Step 1 Seth=1/m;

k=T/N:
A= a’k/h?;
wlm = O.

Step2 Fori=1,....m— 1setw; = f(ih). (Initial values.)
(Steps 3—11 solve a tridiagonal linear system using Algorithm 6.7.)

Step3 Setly=1+xi:
up = —ir/(2h).

Stepd Fori=2,....m—2setli=1+Ai+ Auj_1/2;
up = —1/(2l;).

Step6 Forj=1,....N do Steps 7-11.

Step 7 Sett=jk; (Currentt;.)

1 = [(1 —Awy + %wg] /.’].

Step8 Fori=2.....,m—1set

Zi

A
I:U — A)w; + E{wm + wi_y + Ef—l)] /fi-

Step 9 Setw, | = zZn_1.
Step 10 Fori=m—2,..., I set w; = z; — uw;yy.
Step 11 OUTPUT (t); (Note: t = t;.)

Fori=1.....m—1setx = ih;
OUTPUT (x,w;). (Note: w; = w;j.)

Step 12 STOP. (The procedure is complete.)

,N.

MAP2320
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Use the Crank-Nicolson method with i = 0.1 and £ = 0.01 to approximate the solution
to the problem

du 3%u
—(x, 1) —

» F(x.r):{}. D<x<1 0<1,
X

subject to the conditions
w0, ) =u(l,t) =0, 0<t,
and

u(x,0) =smn(mrx), 0=x<1.

Solution Choosing h = 0.1 and &k = 0.01 gives m = 10, N = 50, and A = 1 in Algorithm
12.3. Recall that the Forward-Difference method gave dramatically poor results for this
choice of h and k., but the Backward-Difference method gave results that were accurate to
about 2 x 10~ for entries in the middle of the table. The results in Table 12.5 indicate the
increase in accuracy of the Crank-Nicolson method over the Backward-Difference method,
the best of the two previously discussed techniques. |



Table 125

Xi W; 50 u(x;.0.3) |wiso — u(x;, 0.5)]
0.0 0 0

0.1 0.00230512 0.00222241 8.271 x 10~
0.2 0.00438461 0.00422728 1.573 x 10
0.3 0.00603489 0.00581836 2.165 x 107*
0.4 0.00709444 0.00683989 2.546 x 107*
0.5 0.00745954 0.00719188 2.677 x 107*
0.6 0.00709444 0.00683989 2.546 x 107*
0.7 0.00603489 0.00581836 2.165 »x 10~*
0.8 0.00438461 0.00422728 1.573 x 10~
0.9 0.00230512 0.00222241 8.271 % 10~
1.0 0 0

MAP2320
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